
СИСТЕМАТИКА 
XIII олимпиада по математике. 1 тур  

3 класс

Задача 1 
Ответ: Б) 15 
Баллы: 4 балла 

 
Задача 2 
Ответ: Г) 9 
Баллы: 4 балла 
 
Задача 3 
Ответ: Б) Дедушка  
Баллы: 4 балла 
 
Задача 4  
Ответ: Г) 72 км 
Баллы: 4 балла 
 
Задача 5 
Ответ: В) 180 
Баллы: 5 баллов 
 
Задача 6 
Ответ: В) 14 
Баллы: 4 балла 
 
Задача 7  
Ответ: А) 28 
Баллы: 6 баллов 
 
Задача 8  
Ответ: Д) Невозможно 
определить 
Баллы: 4 балла 
 
Задача 9 
Ответ: Б) 181 
Баллы: 5 баллов 
 
Задача 10 
Ответ: В) 25  
Баллы: 5 баллов 


